DELHI PUBLIC SCHOOL, SAIL TOWNSHIP, RANCHI
Puja Vacation Assignment

Class—X (session2021-2022)

Time: 90 Minutes English Language & Literature (184) Max. Marks 40

General Instructions:

1. The Question Paper contains THREE sections.

2. Section A-READING has 18 questions. Attempt a total of 14 questions, as per specific instructions for each
question.

3. Section B-WRITING & GRAMMAR has 12 questions. Attempt a total of 10 questions, as per specific instructions
for each question.

4. Section C-LITERATURE has 30 questions. Attempt 26 questions, as per specific instructions for each question.
5. All questions carry equal marks.

6. There is no negative marking.

READING
1X14=14 MARKS

I. Read the the following passage carefully and answer ANY EIGHT out of TEN questions given below in the
context of the passage:

Edmund Burke called the Press, the Fourth Estate of the realm. | think he did not use this title for the Press
thoughtlessly as a social ruling group or class. The Three Estates or Realms (in England) are the Lords Spiritual, i.e.,
the Bishops in the house of Lords, the Temporal, i.e., other Lords and Commons, i.e., the common people. The Press
has been rightly called the Fourth Estate as it also constitutes a ruling group or class like the Lords and Commons. It
cannot be denied in a free country that the Press exercises a good deal of influence in shaping public opinion and
pointing out the weakness or defects of society or of government and, in general, bringing to light all those good or
bad things in society which would have otherwise remained unnoticed. The power is not limited or put under any
check. The Press, instead of being controlled by any one, controls life and thought of a nation. Hence, the Press
constitutes an Estate by itself.

Obviously, the power which the Press in any country wields, depends upon the number of newspaper readers. The
opinions and comments of newspapers can influence the life of a nation only when they are read by people.
Reading, in turn, requires that the general mass of people should be educated. Thus, the spread of education
determines the extent of the newspapers. Where readers are few, newspapers must necessarily be few. Their
influence, in the case, can extend only to a small minority of population. In a country like India, the percentage of
literacy is very low and the standard of journalism is not very high. So, the Press has to play the role of a teacher
here.

1. What title was given by Edmund Burke to the Press?
(A) Instrument of public opinion
(B)Distributor of news

(C) The Fourth Estate



(D)Lords Temporal

2. What does the term 'Fourth Estate' stand for?

(A) An area of land

(B) Landed property

(C) Social ruling group or class

(D) Instrument of power

3. Which one of the following is not included in the other Three Estates?
(A) Lords Spiritual

(B) Justices of Peace

(C) Lords Temporal

(D) Commons

4. Which one of the following is not the function of a free Press?
(A) Shaping public opinion all times official

(B) To support in

(C) To criticise government

(D) To expose social evils policy

5. How much power does a free Press possess?

(A) Only that much which is allowed by the government of the country

(B) Unlimited power without any check

(C) Unlimited power subject to maintenance of law and order and public morality
(D) No power at all

6.What is the secret of the power of the Press?

(A) The money which the newspaper owners can invest

(B) The number of newspaper readers

(C) The extent to which it supports the official policy

(D) The patronage of the government enjoyed by it

7. What determines the number of newspaper readers?
(A) The low price of newspapers

(B) The patronage extended to it by the moneyed people



(C) Education of the general mass of people

(D) The availability of newsprint to the newspaper owners
8. How does the Press exercise its power

(A) It enlists the support of the people.

(B) It keeps watch over the acts of the government.

(C) It controls the life and thought of a nation.

(D) It is a great business concern.

9. What is the state of journalism in India?
(A) It is high.

(B) It is rather low.

(C) Itis inits infancy.

(D) It has made only limited progress.

10. In which form of government has the Press the greatest chances of flourishing?
(A) Monarchy

(B) Aristocracy

(C) Limited Dictatorship

(D) Democracy

Il. Read the following passage carefully and answer ANY SIX questions out of EIGHT given below in the context of
the passage:.

Global weather is warming leading to Arctic meltdown. This is primarily a result of the greenhouse effect caused by
too much carbon dioxide in the atmosphere which acts as a blanket, trapping heat and warming the plant. Burning
of fossil fuels like coal, oil and natural gas for energy cutting down and burning forests to create pastures and
plantations leads to carbon accumulation. Refrigeration and air conditioning and certain agricultural practices also
aggrevate the problem by releasing additional potent global warming gases such as methane and nitrous oxide.
Over the last century, global average temperature has increased by more than 1.02 F. A warming would also have
the potential to change rainfall and snow patterns, increase droughts and severe storms, reduce lake ice cover, melt
glaciers, increase sea levels and change plant and animal behaviour. The impact of global warming on our planet is
extremely serious and if this problem is not talked on an urgent basis it will lead to melting of polar ice caps leading
to an increase in sea level drowning coastlines and slowly submerging continents. Our generation needs to give a
healing touch to the earth which we have ourselves made sick.



11. Global warming is a result of:

(i) warm planet.

(i) trapped heat.

(iii) greenhouse effect.

(iv) carbon dioxide.

12.The cause of greenhouse effects is:
(i) global warming.

(i) burning of coal.

(i) cutting down trees.

(iv) too much carbon dioxide in the atmosphere.
13. Carbon accumulation is caused by:
(i) burning of fossil fuel.

(i) burning forests.

(iii) burning natural gas.

(iv) all the above

14.The word in the passage which means the same as to make worse’ is:

Annual Greenhouse Gas Emissions by Sector
Industrial

processes

Power stations

Transportation
fuels

Waste disposal
and treatment

Land use and

Agricultural i !
biomass burning

byproducts

Fossil fuel retrieval, Residential, commercial,
processing, and distribution and other sources

(i) potent
(i) severe
(iii) aggrevate
(iv) accumulation
15.According to the pie chart the main greenhouse gas emissions is by:

(i) power stations.



(ii) industries.

(iii) transportation fuel.

(iv) land use.

16.A warming world DOES NOT:

(i) increase droughts.

(ii) reduce lake ice cover.

(iii) create pastures.

(iv) melt glaciers.

17.Gases like methane and nitrous oxide are released by:
(i) greenhouse effect.

(i) fossil fuel burning.

(iii) some agricultural practices.

(iv) changing snow patterns.

18.The word 'submerging’ in the passage DOES NOT mean the same as:
(i) sinking

(ii) drown

(iii) go over

(iv) go under

GRAMMAR AND WRITING

1X10=10 MARKS
Ill. Answer ANY FIVE questions out of following SIX questions:.
19. Nupur says, "1 go for a walk every morning". What can be the correct indirect form for the sentence:
(a) Nupur says that she goes for a walk every morning.
(b) Nupur said that she goes for a walk every morning.
(c) Nupur says that | go for a walk every morning.

(d) Nupur said that she went for a walk every morning.

20. | asked the shopkeeper, "What is the price of this bike?"

(a) I asked the shopkeeper that what the price of this bike was.



(b) I asked the shopkeeper what is the price of this bike.
(c) I asked the shopkeeper what was the price of that bike

(d) I asked the shopkeeper what the price of that bike was.

21. The frogs at the cottage......... very loudly.
(a) croaks

(b) croak

(c) croaked

(d) croaking

22. Many a girl .........

(a) has seen this movie
(b) have seen this movie
(c) see this movie

(d) are going to see this movie

23. She expects that her son ...........
(a) can return

(b) may return

(c) should return

(d) could return

24. It is possible Marlowe ......... plays for Shakespeare.
(a) may write

(b)mighthavewritten

(c) might write

(d) None of these



WRITING
IV . Answer ANY FIVE questions out of SIX.

You are Sanjeet of 122, Arjun Nagar, New Delhi. A number of scooters and cars are parked in your locality without
any order, causing blockage of the streets. Complete the letter to the local Secretary of the Resident’s Association
complaining against this problem.

122, Arjun Nagar
New Delhi
February 20, 2019

The Secretary

(25) e New Delhi
Sir
Subject- Complaint regarding the issue of (26) ..........ccceeenuenn. in the locality.

| would like to drive your attention to the bad parking habits of residents in our locality. It is resulting in a lot of chaos and
(27 ) I for those who come back late. Despite defining the area assigned to each vehicle, cars are parked amidst
two parking spots. One vehicle occupies the space for 2-3 vehicles leading to mismanagement. Two-wheelers are
(28) v e . This creates problems for other people as they have to then spend a lot of time finding parking
spots in other localities. It induces frustration and (29).......c.cceceuveevevevvrerrereeneeenenens .. Various notices and warnings have been given
to the rule-violators, but to our dismay, no betterment can be seen. | request you to take strict action as this is leading to fights
between the residents. (30) ..cccceeevevvirreceseeieirece e is expected considering the depth of the situation.

Yours faithfully

Sanjeet

A concerned citizen

25. (a) Society‘s Association
(b) Municipal Corporation
(c) Resident’s Association
(d) Traffic Police Department
26

(a) unauthorised parking
(b) wrong parking

(c) parking area

(d) bad parking habits

27.

(a) paid parking

(b) no place for parking

(c) disturbed state of mind



(d) aggression

28.

(a) placed nowhere near the allotted zone
(b) placed in the four-wheeler parking area
(c) placed on the footpath

(d) haphazardly

29.

(a) need for more parking area

(b) tension for the safety of vehicles

(c) need for a security guard for the vehicles

(d) need of coming early for the sake of parking space

30.

(a) Speedy and quick response

(b) Prominent reply

(c) Effective and Speedy action

(d) Justified action
LITERATURE
1X26=26

V. Read the extract given below and answer the questions that follow.

"We, who were outlaws not so long ago, have today been given the rare privilege to be host to the nations of the
world on our own soil. We thank all of our distinguished international guests for having come to take possession
with the people of our country of what is, after all, a common victory for justice, for peace, for human dignity."

31 The guests at the spectacular ceremony are being called distinguished because
(a) they have been invited as guests to attend it.
(b) they are eminent world leaders witnessing it.
(c) they are visiting the country for this purpose.

d) they have resumed diplomatic relations with the country.



32 Itis a victory for 'human dignity'. Pick the option that lists the correct answer for what 'human dignity" would
include

(a) (i) equality (ii) liberty (iii) indecency
(b) (i) liberty (ii) indecency (iii) self-respect
(c) (i) immorality (ii) self-respect (iii) equality

(d) (i) equality (ii) liberty (iii) self-respect

33 Why does the speaker say that it is a 'rare privilege'? He says this as they have
(a) been deprived of this honour.

(b) seldom been given this honour.

(c) experienced it for the first time.

(d) been chosen over other countries, for this honour.

34. How do you think the speaker feels? Choose the option that best.fits his state of mind.

(a) (i) emotional (ii) elated (iii) unmindful

(b) (i) elated (ii) unmindful (iii) overwhelmed

(c) (i) overwhelmed (ii) elated (iii) honoured

(d) (i) elated (ii) honoured (iii) unmindful

35. Pick the option that show cases the usage of 'host' as in the extract.
(a) He was praised for his hospitality as the host of the party.

(b) She was able to host the event without any hindrance.

(c) She met the host and apologised for her friend's misbehaviour.

(d) He is the best host that one can ever come across

VI .Read the extract given below and answer the questions that follow.

He just felt a bit dizzy. Then he flapped his wings once and he soared upwards. "Ga, ga, ga, Ga, ga, ga, Gaw-col-
ah," his mother swooped past him, her wings making a loud noise. He answered her with another scream. Then
his father flew over him screaming. He saw his two brothers and his sister flying around him curveting and



banking and soaring and diving. Then he completely forgot that he had not always been able to fly, and
commended himself to dive and soar and curve, shrieking shrilly.

36 Pick the most appropriate reason why the young gull felt dizzy.
(a) He hadn't eaten anything for a day.

(b) He was dizzy with excitement.

(c) He was wary of heights.

(d) He was flying for the first time.

37 How would you describe the screams of the gulls in the given extract?

(a) Elation (b) Bewilderment

(c) Shock (d) Protection

38 The line "he completely forgot that he had not always been able to fly" implies the
(a) great confidence the young gull had in his skills.

(b) naturalness of the act of flying for the young gull.

(c) satisfaction and joy of flying together as a family.

(d) desire of the young gull to leave his fears behind.

39 The extract refers to the many move ments of the young gull's brothers and sister. Choose the option that
correctly sequences these movements.

(a) The young gull's brothers and sister flew by tilting their wings, rose high, made darting movements and plunged
headfirst.

(b) The young gull's brothers and sister flew by plunging headfirst, making darting movements, titled their wings and
rose high.

(c) The young gull's brothers and sister G flew with darting movements, titled rub their wings, rose high and plunged
we headfirst.

(d) The young gull's brothers and sister flew by rising high, plunging headfirst, making darting movements and tilting
their wings.

40 Which of the following mirrors the use of the literary device in 'shrieking shrilly'?
(a) Sparkling saga (b) Singing soft

(c) Slippery sloppily (d) Sneeze silently



VIl Read the extract given below and answer the questions that follow
He stalks in his vivid stripes,
The few steps of his cage,
On pads of velvet quiet,

In his quiet rage.

41 Which of the following statements is/are correct in reference to the above extract?
1. The tiger is walking inside his cage.

2. The tiger is angry because he is hungry.

3. The tiger is afraid of the people in the zoo.

4. The tiger is angry because he is trapped in a zoo when he should be in his natural habitat.
5. The tiger's paws are very soft.

(a) Options 2 and 3

(b) Options 1 and 4

(c) Options 2,3 and 5

(d) Options 1, 4and 5

42 Where is the tiger at present?

(a) In the forest (b) In a circus

(c) In acage (d) In a room

43 Choose from the following list the qualities of the animal mentioned in the extract.
1. Quiet

2. Vivid stripes on his body

3. Desperate

4. Soft, velvet-like paws

5. Roaring

(a) Options 1 and 4 (b) Only option 2

(c) Options 2 and 4 (d) Options 3 and 5



44 Which word in the stanza may mean graphic or picturesque also
(a) Strips

(b) Velvet

(c) Quiet

(d) Vivid

45.Why is the tiger in 'quite rage?

(a) Movement restricted

(b) Freedom curtailed

(c) Not fed properly

(d) Both (a) and (b

IX. Read the extract given below and answer the questions that follow

There was a fifty rupees note between his fingers. My heart sank. | thought | had been discovered. 'l made some
money yesterday," he explained. Now you'll be paid regularly. My spirits rose. But when | took the note, | saw it
was still wet from the night's rain. Today, we'll start writing sentences," he said. He knew. But neither his lips nor
his eyes showed anything.

46 Why did the narrator's heart sink?

(a) He thought that Anil might know that he had stolen the money.
(b) He thought that Anil might be sad from his behaviour.

(c) He thought that Anil wouldn't trust him anymore.

(d) All of the above

47. What did Anil say to Hari Singh on knowing about his guilt?
(a) He said that Hari Singh will be paid regularly.

(b) He said that Hari Singh will be punished for his offence.

(c) He said that he will educate Hari.

(d) He didn't say

48 Which personality trait of Anil transformed Hari Singh?

(a) Honesty (b) Kindness

(c) Empathy (d) Humbleness



49 Choose the answer that lists the correct option regarding Hari's expression after Anil told him that he would pay
him.

a) Option (1) (b) Option (2)

(c) Option (3) (d) Option (4)

50 Hari Singh felt guilty because .

(a) he stole the money from Anil.

(b) he broke the trust of Anil.

(c) he was not kind like Anil.

(d) Both (a) and (b)

X. Select the correct option in the following questions

51. Which option correctly replaces the underlined phrase in the given line from From the Diary of Anne Frank? | don‘t
want to jot down the facts in this diary.

A -To mark

B —To make a written note of
C-Torecord

D —To mention

52. Anne wrote a poetry on the topic —Quack, Quack, Quack, Said Mistress Chatterbox when the topic was given to
her for the third time to write an essay as punishment. She did this............

A —To come up with something different.

B —To irritate Mr Keesing.

C —To make joke of Mr Keesing.

D —To show her writing skills.

53. Anneis .......... when she sits at her home with her chins in her hands.
A—sad and thoughtful.

B—depressed and confused.

C—listless and sad.

D—-depressed and bored.

54 Why is money called external?

a) We need to earn money through hard work.
b) We can replace the lost things with its help.

¢) It is made in an artificial way.



d) None of these

55. What does the phrase _epistemology of loss‘ refer to?
a) Loss of worldly things.

b) Loss of relationships.

c) The knowledge of how to stand up against the sense of lost things.
d) All of them

56. Why does an ultimate shaking grief fix the boy?

a) He lost his ball in the water.

b) He lost his childhood memories along with the ball.

c) He is scared of his mother’s reaction.

d) None of these.

57 Why was Tricki sent to hospital?

a) He was not happy at home

b) Mrs Pumphrey wanted to get rid of it

c) Tricki had bouts of vomiting

d) All of the above

58 Who was Tricki?

(a) A monkey

(b) A tortoise

(c) Adog

(d) A parrot

59 What was the name of Mrs Pumphrey“sdog ?

a) Ben b) Tommy c) Tricki d) johny

60 The narrator describes Tricki as a pathetic little animal?The use of “ pathetic” indicates at the narrator
a) he was fond of Tricki

b) he thought Tricki was contemptible

¢) he pitied Trick"s condition

d) he felt that Tricki was enjoying robust health



Mathematics

Maximum Marks: 40
General Instructions:

1. The question paper contains three parts A, B and C

2. Section A consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
3. Section B consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
4 Section C consists of 10 questions based on two Case Studies. Attempt any 8 questions.

5. There is no negative marking.

SECTION A

Section A consists of 20 questions of 1 mark each. Any 16 questions are to be attempted

QNo Marks
1 The ratio of LCM and HCF of the least composite and the least prime numbers is 1
(a) 1:2 (b) 2:1 (c) 1:1 (d)1:3
The value of k for which the lines £x+7y=3 and 15x + 21y = k coincide i
2 | @9 (b) 5 ©7 @is ® 1
3 A girl walks 200m towards East and then 150m towards North. The distance of the girl 1
from the starting point is
(2)350m (b) 250m (c) 300m (d) 225
4 The lengths of the diagonals of a thombus are 24cm and 32cm, then the length of the 1
altitude of the rhombus is
(a) 12cm (b) 12.8cm (¢) 19 cm’ (d) 19.2cm
5 Two fair coins are tossed. What is the probability of getting at the most one head?
(2)-3 (b)-L (c)1 (d) 3/8 1
&)+ {0)74 N (&)=>79
6 AABC~APQR. If AM and PN are altitudes of AABC and APQR respectively and AB*: 1
PQ?=4:9, then AM:PN =
(a) 16:81 (b) 4:9 (c) 3:2 (d)2:3
7 If 2sin’p —cos’B =2, then B is 1
(a) O° (b) 90° (c) 45° (d) 30°
8 Prime factors of the denominator of a rational number with the decimal expansion 1
44.123 are
(a)2,3 (b) 2,3,5 (c)2,5 (d) 3,5
9 The Tines x =a and y =Db, are 1
(a) intersecting (b) parallel (c) overlapping (d) (None of these)
16 Thedistance of pomtA(=5;-6) fronrthe origimrts t
(a) 11 units (b) 61 units (c) V11 units (d) V61 units

11 Ita>=23/25,thenais
(a) rational (b) irrational (c) whole number  (d) integer




12 | [fLCM(x, 18) =36 and HCF(x, 18) =2, then x is 1
(a) 2 (b)3 (c)4 (d)5
13 | In AABC right angled at B, if tan A \/3, then cos A co’s C- sin A sin C = 1
(a) -1 (0 (01 (d)V3/2
14 | Ifthe angles of AABC are in ratio 1:1:2, respectively (the largest angle being  angle 1
C), then the value of secA  tanA
cosecB~ cotB
()0 (b) 1/2 (©1 (d)V3/2
15 | The number of revolutions made by a circular wheel of radius 0.7m in rolling a distance | 1
of 176m is
(a) 22 (b) 24 (c) 75 (d) 40
16 | AABC is such that AB=3 cm, BC=2cm, CA=2.5 cm. If AABC ~ ADEF and EF= |1
4cm, then perimeter of ADEF is
(a) 7.5 cm (b) 15 cm (c)22.5 cm (d) 30 cm
17 In the figure, if DE|| BC, AD = 3cm, BD = 4cm and BC= 14 c¢m, then DE equals 1
A
D E
B C
(a) 7cm (b) 6cm (c) 4cm (d) 3cm
18 1rq tanB = 3, then 4sinf-3cosf= 1
4 sin f+3 cos B
(@0 (b) 173 (cy273 ()
19 One equation of a pair of dependent linear equations is —5x + 7y = 2. The second equation 1
can be
a) Tox+t4y+4=0b)—1ox—14y+4 =0 c)—10xFdy+4=0(d)tox—tdy=—+4
20 | A letter of English alphabets is chosen at random. What is the probability that it is a letter | 1
of the word ‘MATHEMATICS’?
(a)y4/13 () 9726 (c)y5/13 (@) 11726
SECTION B
Section B consists of 20 questions of 1 mark each. Any 16 questions are to be attempted
MARKS
1
QN
21 | If sum of two numbers is 1215 and their HCF is 81, then the possible number of pairs
of such numbers are
(a) 2 (b)3 (c) 4 (d)5 1
22 Given below is the graph representing two linear equations by lines AB and CD

respectively. What is the area of the triangle formed by these two lines and the line x=0?




! . B |
Y P "‘0/' ) VK
TR s PR A
Ll /3, |

-y

R T SRS s
(a) 3sq. units (b) 4sq. units (c) 6sq. units (d) 8sq. units
23 | Iftan o + cot o= 2, then tan’’a + cot*’o = 1
(@0 (b) 2 (c) 20 (d) 2%
24 | [f217x+ 131y =913, 131x + 217y = 827, thenx + y is 1
(@5 (b) 6 (c)7 (d) 8
-q. 1
25 The LCM of t vo prime numbers p and g (p > ¢) is 221. Find the value of 3;
(a4 (b)28 ()38 (d)48
26 | A card is drawn from a well shuffled deck of cards. What is the probability that the 1
L«ald dlanl ib llCit}lCl d ki115 01 a quccu?
(a) 11/13 (b) 12/13 (c) 11/26 (d) 11/52
27 | Two fair dice are rolled simultaneously. The probability that 5 will come up at least 1
UIICT ib
(a) 5/36 (b) 11/36 (c) 12/36 (d) 23/36
28 Ht+sin‘o=3-ina coso;, thenvaluesof cotaare 1
(a)-1,1 (b) 0,1 (01,2 (d)-1.-1
29 | The vertices of a parallelogram in order are A£11,2), B(4,y), C(x, 6) and D(3,5). Then 1
(x,y)is '
(a) (6, 3) (b) 3,6) 5, 6) (d) (1,4)
30 | Inthe given figure, ZACB = 2CDA, A D =3cm, then BD is 1
8¢
3cm D B
(a) 22/3 cm (b) 26/3 cm (c) 55/3 cm (d) 64/3 cm
21 The aagnation-ofthepnernendicilar hicector-of ne ceomen 4 1t Nt A (A S oA 1
T 1T b\iuutl\.}ll \vjanneiv lJ\AlJ\dlulvuLul UIrsSuvoiloT UT 1111V D\;slll\;lll J\}llllllé lJUlllI.D n\_l',.l} ancr ks

B(-2,3) is




(a) 2x—y +7=0 ®)3x+2y-7=0 (c)3x-y-7=0 (d)3x+y-7=0

32 | Inthe given figure, D is the mid-point of BC, then the value of coty :is
cotx
C D B
(a)2 (b) 172 (c) 173 (d) 1/4
33 | The smallest number by which 1/13 should be multiplied so that its decimal expansion
terminates after two decimal places is
(a) 13/100 (b) 13/10 (c) 10/13 (d) 100/13
34 | Sides AB and BE of a right triangle, right angled at B are of lengths 16 cm and 8 cm
respectively. The length of the side of largest square FDGB that can be inscribed in the
triangle ABE is
1A
16cm
‘F D
IJ} 3—%8311/—05
(a) 32/3cm (b) 16/3cm (c)8/3cm (d) 4/3cm
35 | Point P divides the line segment joining R(-1, 3) and S(9,8) in ratio k:1. If P lies on the
line x — y +2=0, then value ofk is
(a)2/3 (b) 172 (c)1/3 (d) 1/4
36 In the figure given below, ABCD is a square of side 14 cm with E, F, G and H as the mid
points of sides AB, BC, CD and DA respectively. The area of the shaded portion is
A E B
(a) 44cm? (b) 49 cm? (c) 98 cm? (d) 4971/2 cm?
37 | Given below is the picture of the Olympic rings made by taking five congruent circles

of radius 1cm each, intersecting in such a way that the chord formed by joining the
point of intersection of two circles is also of length 1cm. Total area of all the dotted
regions assuming the thickness of the rings to be negligible is




70Ye
N

(a) 4(/12-N3/4) cm?  (b) (n/6 - N3/4) cm?  (c) 4(n/6 - N3/4) cm?  (d) 8(n/6 - V3/4) ¢

38 | If2 and ¥ are the zeros of px*+5x+r, then
(ap=r=2 b)p=r=-2 (c)p =2,1=-2 (dp=-2,r=2
39 | The circumference of a circle is 100 cm. The side of a square inscribed in the circle is
(a) 50N2 cm (b) 100/7 cm (¢) 50N2/m cm (d) 100\2/1 cm
40 | The number of solutions of 3**= 243 and 243*¥=3 is
(@0 (b) 1 ()2 (d) infinite
SECTION C
Case study based questions:
Section C consists of 10 questions of 1 mark each. Any 8 questions are to be
attempted.
Q41-Q45 are based on Case Study -1
Case Study -1
The figure given alongside shows the path of a
diver, when she takes a jump from the diving
board. Clearly it is a parabola.
Annie was standing on a diving board, 48 feet
above the water level. She took a dive into the
pool. Her height (in feet) above the water level at
any time‘t’ in seconds is given by the polynomial
h(t) such that
h(t) =-16t> + 8t + k.
41 | What is the value of k?
(2) 0
(b) - 48
(c) 48
(d) 48/-16
42 | At what time will she touch the water in the pool?

(a) 30 seconds
(b) 2 seconds

(c) 1.5 seconds
(d) 0.5 seconds




43

Rita’s height (in feet) above the water level is given by another polynomial p(#) with
zeroes -1 and 2. Then p(¢) is given by-

(a) 2+1t-2.

(b) t2+2t-1

(c) 241> - 24t + 48.

(d) -24t> + 24t + 48.

44

A polynomial q(¢) with sum of zeroes as 1 and the product as -6 is modelling Anu’s
height in feet above the water at any time t( in seconds). Then q(¢) is given by

(a) P+t+6

(b) #+1-6

(c) -8+ 8t+48

(d) 8- 8¢+ 48

45

The zeroes of the polynomial r(¢) =-12# + (k-3)z +48 are negative of each other. Then
kis

(a) 3

(b) 0

(c) -1.5

(d) -3




Q46-Q50 are based on Case Study -2
Case Study -2
A hockey field is the playing surface for the game of hockey. Historically, the game was played on
natural turf (grass) but nowadays it is predominantly played on an artificial turf.
It is rectangular in shape - 100 yards by 60 yards. Goals consist of two upright posts placed
equidistant from the centre of the backline, joined at the top by a horizontal crossbar. The inner
edges of the posts must be 3.66 metres (4 yards) apart, and the lower edge of the crossbar must be
2.14 metres (7 feet) above the ground.

Each team plays with 11 players on the field during the game including the goalie.
Positions you might play include-

e Forward: As shown by players A, B, C and D.
o Midﬁelders: As shown by players E, F and G.
e Fullbacks: As shown by players H, I and J.

e Goalie: As shown by player K
Using the picture of a hockey field below, answer the questions that follow:

'
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46

The coordinates of the centroid of AEHJ are
(a) (-2/3,1)
(b) (1,-2/3)
(c) (2/3,1)
(d) (-2/3,-1)

47

If a player P needs to be at equal distances from A and G, such that A, P and G are in
straight line, then position of P will be given by

(a) (-3/2,2)

(b) (2,-3/2)

(c) (2,3/2)

(d (-2,-3)

48

The point on x axis equidistant from I and E is
(a) (1/2,0)
(b) (0,-1/2)
(c) (-1/2,0)
(d) (0,1/2)

49

What are the coordinates of the position of a player Q such that his distance from K is
twice his distance from E and K, Q and E are collinear?

(a) (1,0)

(b) (0,1)

(¢ (-2,1)

(d) (-1,0)

50

The point on y axis equidistant from B and C is
(@ (-1,0)
(b) (0,-1)
(¢) (1,0)
(d) (0,1)




Physics

1. Three electric bulbs of rating 60 W each are joined in series and then connected to electricmains. The power
consumed by these three bulbs will be
(a) 180W (b) 60 W

(c)20 W (d)20/3 W

2 A current of 2 A passing through conductor produces 80 J of heat in 10 seconds. The resistance of the conductor

(a) 0.5 Q (b)2 Q

(c)4 Q (d)20 Q

]
o 28 15V
o &
2Q

(@) 1.5A (b)2.5A

(c) 3.5A (d)4.5A
4 10,000 alpha-particles per minute are passingthrough a straight tube of radius r. The resulting electric

current is approximately
(a) 0.5x10716 4

(b) 0.5%10'2 4

5 Two conducting wires of same material and ofequal lengths and equal diameters are first connected in
series and then parallel in a circuit across the same potential difference. The ratio of heat produced in series and
parallel combination would be

(@)1:2 (b)2:1
(c)1:4 (d)a:1

6 For the two circuit I arid II shown below,the voltmeter readings would be



| ————— a—
3v (1)

0 Vin circuitland 2 Vin circuit II
3 Vin both the circuits.

0 Viscircuit I and 3 Vin circuit II.
3 Vincircuit land 0 Vin circuit II

7 Masses of three wires of copper are in the ratio 1:3:5 and their lengths are in the ratio of 5:3:1. The ratio of their
electrical resistances are
(@)1:3:5 (b)5:3:1
(c)1:15:125 (d) 125 : 15 : 1 To determine the equivalent resistance of a il lla student arrange the
following set up.
Ry Ry

M
(2]

Which one of the following statements will betrue for this circuit? It gives
incorrect reading for current / as well as potential difference V
correct reading for current I butincorrectreading for potential difference V.
correct reading for potential difference butincorrect reading for current / .
(d)correct reading for both 7 and V
Chemistry
MULTIPLE CHOICE QUESTIONS 2021- 2022
1.Reaction of magnesium with air is
a) Exothermic reaction
b)Endothermic reaction
c) Reversible reaction
d) Substitution reaction
2.When crystals of lead nitrate are heated strongly in a dry test tube
a) Crystals immediately melt

b) A brown residue is left

c) White fumes appear in the test tube



d) Ayellow residue is left

3.In the double displacement reaction between aqueous potassium iodide and aqueous lead nitrate ,a yellow
precipitate of lead iodide is formed .While performing the activity if lead nitrate is not available , which of the
following can be used in place of lead nitrate

a)lead sulphate

b) lead acetate

c) ammonium nitrate

d) potassium sulphate

4.The nature of calcium phosphate present in tooth enamel is
a) basic

b) amphoteric

c) acidic

d) neutral

5.An aqueous solution turns red litmus solution blue . Excess addition of which of the following solution would
reverse the change

a) Baking powder

b) lime

¢) ammonium hydroxide solution

d) Hydrochloric acid

6.An indicator is one kind of the following compounds

a) strong acids only

b) reducing agents

c) weak bases or acids only

d) complex salts

7.ASSERTION (A): Universal indicator gives green colour with distilled water

REASON(R): pH of distilled water is 7 and it is neutral and universal indicator gives green colour with neutral
solution

a) Both A and R are true and R is the correct explanation of assertion A



b) Both A and R are true but R is not the correct explanation of assertion A
c) Ais true but R is false
d) A s false but R is true

8.All of the following compounds are ionic, except

a) Calcium chloride

b) sodium chloride

c) potassium chloride

d) water

9.Which of the following lies in between magnesium and lead in the reactivity series
a) sodium

b) gold

c) calcium

d) zinc

10.What happens when calcium is treated with water?

(i)It does not react with water

(ii) It reacts violently with water

(iii) It reacts less violently with water

(iv) Bubbles of hydrogen gas formed stick to the surface of calcium
a)(i) and (iv)

b) (ii) and (iii)

c) (i) and (ii)

d) (iii) and (iv)

BIOLOGY
1. The reason for single cell diffusion inefficiency in multicellular organism is
(a) Cell diffusion is a complex process

(b) Big size and complex body designs



(c) Cell diffusion requires lots of time

(d) Cell diffusion is rather a simple process to be carried out in multi cell organism
2. Breakdown of pyruvate using oxygen takes place in the

(a) Cytoplasm

(b) Mitochondria

(c) Golgi bodies

(d) Endoplasmic reticulum

3. In higher vertebrates, systemic circulation takes place between
(a) body parts and lungs

(b) body parts and heart

(c) heart and body parts

(d) lungs and heart

4. When the materials like sucrose are transferred to phloem tissue, the osmotic pressure of the
tissue .......... leading to .......... of water into/from it.

(a) Increases, entry
(b) Decreases, entry
(c) Increases, exit
(d) Decreases, exit

5. Assertion: Artificial kidney is a device used to remove nitrogenous waste products from the blood
through dialysis.

Reason: Reabsorption does not occur in artificial kidney.

(a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct explanation of Assertion.
(c) Assertion is true but Reason is false.

(d) Assertion is false but Reason is true.

6. Roots of the plants absorb water from the soil through the process of:
(a) diffusion



(b) transpiration
(c) osmosis
(d) None of these

7. Which part of nephron allows the selective reabsorption of useful substances like glucose, amino acids,
salts and water into the blood capillaries?

(a) Tubule

(b) Glomerulus

(c) Bowman’s capsule

(d) Ureter

8. Oxygen liberated during photosynthesis comes from

(a) water

(b) chlorophyll
(c) carbon dioxide
(d) glucose

Read the following and answer the questions:

Heterotrophic nutrition is a mode of nutrition in which organisms obtain readymade organic food from
outside sources. The organisms that depend upon outside sources for obtaining organic nutrients are
called heterotrophs. Heterotrophic nutrition is of three types: saprophytic, parasitic and holozoic
nutrition.

9. Heterotrophic nutrition involves

(a) production of simple sugar from inorganic compounds
(b) utilization of chemical energy to prepare food

(c) utilization of energy obtained by plants

(d) all of these

10. Which of the following is a parasite?

(a) Yeast

(b) Taenia

(c) Amoeba

(d) Earthworm



History/Civics

1. - was the famous English poet, who organised funds and later went to fight in the Greek War of
Independence.

A. Lord John Milton
B. Lord Byron
C. Lord Wellington

D. Lord Macaulay

2. Arrange the following events related to the Formation of Britain as a nation, in chronological order.
(i) The Act of Union between England and Scotland

(i) The English parliament, which had seized power from the monarchy

(iii) Ireland was forcibly incorporated into the United Kingdom

(iv) Catholic revolts against British dominance

Aiii-i—ii—iv
B.i—ii—iii—iv
Civ—i—ii—iii
D.ii—i—iv—iii

3. Consider the following.

1. Johann Gottfried - German philosopher

2. uprising in Brussels - Belgium breaking away from the United Kingdom
of the Netherlands.

3. Delacroix - French Romantic painters.

4. Grimm Brothers - Folktales and Nation-building

Which of the above are correctly matched?

A.2and 3 only



B.1,2and 3 only
C.2,3and 4 only

D.1,2,3and 4

4. Name the event that mobilised nationalist feelings among the educated elite across Europe.
A. Restoration of Bourbon kings to power.

B. Greek war of independence.

C. The July Revolution.

D. Installation of constitutional monarchy with Louis Philippe at its head.

5. Assertion (A): Giuseppe Mazzini believed that God had intended nations to be the natural units of mankind.

Reason (R) : Metternich described him as “the most dangerous enemy of our social order”.

DIRECTION: Mark the option which is most suitable:

(A) If both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).

(B) If both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(C) Assertion (A) is true but reason (R) is false.

(D) Both assertion (A) and reason (R) are false.46.

6. Why power sharing between different organs of the government is being referred as the horizontal
distribution of power?

A. Different organs of the government can exercise unlimited power
B. Different Organs of the government are placed at the same level and can check each other
C. Different levels of the government can exercise different power.

D. Different levels of the government can exercise unlimited power

7. What makes India a federal country?



A. The distribution of powers between the union and state governments
B. The distribution of powers between the two states governments

C. The distribution of powers between the state and union territory

W)

. None of these

00

. Reservation to weaker section and community government are the example of:

A. Power sharing between different organs of the government

oo}

. Power Sharing among different social group

(@)

. Power Sharing among Political parties, pressure groups and movements

W)

. All the above

Yo}

. Which major step towards decentralisation was not taken in 1992.

A. it is constitutionally mandatory to hold regular elections to local government bodies.

ve]

. At least 1/3 of all positions are reserved for women.

(@]

. The State governments are required to share some powers and revenue with local government bodies

D. 2/3 seats are reserved for Other Backward classes.

10. Assertion(A): Community government in Belgium allows to share power among religious and linguistic groups.

Reason(R): In India there are legal and constitutional arrangements where by socially weaker sections and
women are represented in the legislatures and administration.

DIRECTION: Mark the option which is most suitable:

(A) If both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).

(B) If both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A).
(C) Assertion (A) is true but reason (R) is false.

(D) Both assertion (A) and reason (R) are false.



GEOGRAPHY

SECTION- A
1.Grouping of small land holdings into bigger one is called

A. Ceilings of land holdings

B. Collectivization

C. Cooperative farming

D. Consolidation of Land holdings

2. Complete the following table with suitable information

Non-Renewable Resources What are these?
are divided into two parts

Choose the correct option: -

A. Individual and community Resources
B. Recyclable and Non-Recyclable Resources
C. Potential and Developed Resources
D. Stock and Reserves
3.Which of the following categories of the resources can we put metals in?

Renewable resources
Actual resources
Recyclable resources
Potential resources

o0 W

SECTION-B

4. These soil is found in the plateaus of Maharashtra, this soil is well known for their capacity to hold
moisture and made of extremely fine particles. Identify the soil.




Laterite soil

Black soil

Red and yellow soil
Forest soil

N

SECTION-C

5.Read the source given below and answer the following questions by choosing the most appropriate
option.

Intensive subsistence farming is practised in areas of high population pressure on land.It is labour
intensive farming, where high doses of bio-chemical inputs and irrigation are used for obtaining higher
production.

In India tea,coffe,rubber,sugarcane,banana,etc are important plantation crops. Tea in Assam and North
Bengal ,Coffee in Karnataka are some of the important plantation crops grown in this states.

I.  Intensive subsistence farming is practised in areas of
A. Desert areas
B. Forest areas
C. Densely populated areas
D. Both A and B
II.  Which one of the following statements is incorrect as regard to the intensive subsistence farming
A. Labour intensive
B. Not uses of bio-chemical inputs
C. Irrigation are used
D. High production
III.  In intensive farming there is enormous pressure on the land because
A. The size of the land holdings are big
B. Farmers have alternative source of livelihood
C. Farmers continue to take maximum output from the limited land
D. Both A and B
IV.  Which one of the following farming methods has an interface of agriculture and industry
A. Primitive subsistence agriculture
B. Intensive subsistence agriculture
C. Plantation agriculture
D. Slash and burn agriculture



SECTION-D
Attempt both the map-based questions

On the given outline map of India identify the location with the help of specified information

6. On the political map of India ‘A’ is marked as a dam. Identify it from the following options

A. Sardar Sarovar

B. Rana Pratap Sagar
C. Nasgarjuna Sasgar
D. Hirakud

7. On the same map ‘B’ is also marked as a major rubber producing state .Identify it from the following
options.

A. Andhra Pradesh



B. Kerala
C. Manipur
D. Madhya Pradesh

Economics
Q1] Human Development Report is published by;-
a] UNDP
b] WHO
c] IMF
d] World Bank
Q2] Which of the following is the most important component for comparing different countries?
a] Population
b] Resources
c] Per Capita Income
d] Income
Q3] HDI stands for ‘Human Development Index’ that focuses on which option:-
a] Life expectancy
b] National income
c] Gross enrolment ratio for three levels of schooling
d] All the above
Q4] Choose the improper group from the following:
a] Maruti,Volkswagan,Tata motors
b] Agriculture,Mining,Lumbering
c] BSNL,Hero Honda,and Amul dairy
d] Indian Railways, TSRTC,and Indian Airlines
Q5] Mark the option which is more suitable:-

A] If both assertion and reason are true, and reason is the correct explanation of assertion.



B] If both assertion and reason are true, but reason is not the correct explanation of assertion.
C] If assertion is true, but reason is false.

D] If both assertion and reason are false.

Q5] Assertion: - Different people have different developmental goals.
Reason: - The Capitalist approach to development is detrimental to poor section of the society.
alA
b] B
c]C
d] D
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French

setl

Regardez I'image, et lisez le texte pour répondre aux questions.

Le Québec

Québec
|

Administ ration
¥ & 8 Canada
o =
=x = Québec (Capitale)
) £
Agplomération de Québec
Ville et temmitoire équuvalent Capitale
-Foy—S e
Charlesbourg
Beauport
LaHa L
Régis Labeaume
2017 - 2021
Samuel de Champlain
3 juillet 1608



Le Québec est situé au nord-est du continent américain. Il est la plus grande province du
Canada. Voisin des Etats-unis au sud et de I'Ontario a I'ouest, la grande majorité de la
population vit aux abords du fleuve Saint-Laurent. Le Saint-Laurent est I'un des grands fleuves

du globe.

Les Québécois sont, en général, fiers d'étre francophones, méme s'ils sont minoritaires dans un

Canada anglophone.

Le francgais est la langue officielle du Québec, mais c’est une province qui est bilingue : 'anglais

y coexiste avec le francais.

Montréal est la plus importante région touristique du Québec, ayant recu 8,4 millions de

touristes en 2013.

La ville de Québec est la seule ville fortifiée en Amérique du Nord. Elle est la capitale. Etant la
plus vieille ville francophone d’Amérique, I'arrondissement historique du Vieux-Québec a

d’ailleurs été déclaré site du patrimoine mondial par I'Unesco en 1985.

Chochez les bonne response :

1. Le Quebec est situé:
a) En Europe
b) Aux états unis
c) En Amérique du nord
2. Au Québec:
a. On parle anglais et francgais
b. On parle seulment en frangais

c. On parle seulment en anglais



3. Qui est plus importante régions touristique du Quebec.
a) Montréal
b) Saint — Laurent
c) Cananda

4. Quebecestla______ ville frangcophone d’amérique.
a) Plus belle
b) Plus vielle
c) Plus nouvelle

5. En 1985, Québec déclairé sitedu______ pars UNESCO.
a) Patrimoine mondial
b) Matrimoine mondial
c) Heritage

6. “LaHaute — Saintcharles“est____ de québec.
a) Subdivision régionale
b) Province
c) Arrondissments

7. Drapeau de Québec a _ couleur.

a) Deux
b) Trois

c) Quatre

Cherchez dans la texte



8. Un verbe un l'infinitif:

a) Situé b) Déclarer
9. Un adjectif
a) plus b) vieux
10. Un Nom
a) minoritaire b) fortifiée
11. Un adverbe
a) plus b) grande

Complétez avec un mots du texte :

c) Eté

c) A bords

c¢) Francophone

¢) mmajorit

12. La langue officielle de canada est frangais parceque la canada est le pays :

a) frangcophone b) moin

13. La ganges est

a) plus grande
14. Paris est plus important région

a) touristique

fleuves del'inde.

b) plus moins

b) pour le fromage

c) belle

C) mauvaise

___defrance.

c) economique

Section 2

Expression Ecrite

Completez le texte avec les mots donnes :

Michel, un jeune gargon, habite avec sa famille dansun .........

........village. Il aime lire et

il va souvent ................... bibliotheque ou il lit I'histoire du monde. Il réve ...................
villes et des pays etil ...............les visiter. Il aime beaucoup voyager. Un jour,

il e UN @M
qui lui dit qu'il faitun ........
decident de en voyage ensemble.

.........vOyage et va visiter beaucoup de ................... villes. lls



15.  a) petit

16. a) ala

17.  a)jamais
18. a) voudrait
19. a)regarde

20. a) grande

21. a) Partir

b) mauvaise c) ami

b) au c) dans
b) toujours c) Au jourd’hui
b) aime c) regarder

b) rencontre c) voit

b) seul c) belle

b) mange c) aime

Complétez la message:

Ma chere Sylvie

Je________Chine dans un mois pour la France. Je prendrai Air France 212, qui
arrive a Paris le 13 aolt a midi.je te _ des que je ___amon hétel. Je resterai
dans un petit hotel au Quartier Latin. Quand tu libre, on déjeuner
ensemble mon oncle.

Ecris-moi lorsque tu regois ma message.

Akansha

22. a) auras été b) aller c) voyage

23. a)l'eau b) le vol c) Avion

24. a) me reposerai b) manger c) aller

25. a) sera arrivée b) suis arrivé c) suis allé

26. a) aura été b) auras été c) été

27.a) Pourra b) pourrais c) étais

28. a)a b) chez d) maison

German



Text A

Reise mit uns!

Hast du schon Ferienpldne? Noch nicht? Reise dann mit uns! Zwei Wochen in Italien!
Unsere Gruppe fahrt am 20. Juli am Nachmittag ab. Wir wohnen in einer Jugendherberge
direkt am Strand und haben jeden Tag verschiedene Programme: Ausfliige,Strand,
Freizeitpark, Disco usw. Ein Mitnehmer von uns hat die Reise abgesagt. Wir haben die
Reiseftir 20 Mitglieder geplant. Wir brauchen Dich, sonstistalles teurer. Wir wollen die
Reise nicht spater machen, weil die Reise im Juli 480 Euro, im August 580 Euromit
Halbpension kostet. Wenn du dich fiir die Reise interessiert, ruf uns sofort an: 5227492

Klara oder Helga.

Welche Antwort ist richtig? a, b oder c?

1. Waswill die Gruppe machen?
a. 14 Tage mit dem Zug durch Italien fahren.
b. Am 20. Juli nach Italien fahren.

c. Zwei Wochen am Strand in Italien verbringen.
2. WarumhabenKlaraund Helga die Anzeigeaufgegeben?

a. Sie konnen die Reise mit 19 Mitnehmer nicht machen.
b. SiekonnendieReisenichtmehrabsagen.
c. Mit20Teilnehmernist die Reise billiger.

3. WelchesProblem hat die Gruppe?
a. Ein Mitnehmer will nicht mitkommen.
b. EinMitnehmer findet die Reise teuer.

c. Ein Mitnehmer will im August fahren.

4. WoistdieJugendherberge?
a. Am Meer.
b. Nicht weit vomStrand.
c. ImStadtzentrum.

5. WievielkostetdieReise?
a. Ohne Friihstiick 499 Euro.
b. 599 Euro/Person.



¢. ImJuli100 Euro weniger.

TEXT B

Dieb aufdem Schulhof

»Woist mein Pausenbrot?”, fragte Max. Jiirgen lachte. ,Max hat schon wieder sein Pausenbrot
verloren. Haha!” ,,Du hast es mir gestohlen!” , Ist nicht wahr! Du bist blof$ neidisch. Denn ich
habe zweileckere Brotchen mit extraSalami. Und duhast gar keins.” Max war sich ganzsicher,
dasser sein Pausenbrot am Morgen eingepackt hatte. Es war in seiner knallgrtinen Box. Doch
diesewar nicht in seinem Schulranzen. , Es wére nicht verwunderlich, wenn Jiirgen die Box

genommen hitte”, dachte Max. , Er ist doch immer so fies zu mir.”

Doch Jiirgen wollte den Dieb nicht zugeben und Max verliert die Pause hungrig. Den ganzen Tag
war Max schlecht gelaunt. Sein Magen half ihm dabei auch nicht, der knurrte ununterbrochen. Als
Maxendlichzu Hauseankam, ginger gleichin die Ktiche, umsichein Brotzumachen. Undsiehe
da, auf dem Tisch lag die knallgriine Box mit dem Pausenbrot drin. Er musste sich wohl bei Jiirgen
entschuldigen. Doch an Morgen wollte Max jetzt nicht denken. Mit Genuss biss er in sein

Pausenbrot.

1. IndiesemTextgehtesdarum,dass...
a. alleSchiilerihrePausenbroteverlorenhaben.
b. Max sein Pausenbrot verloren hat.

c. Jiirgen sein Pausenbrot verloren hat.

2. Maxsagt, dass]Jiirgenneidischist, weil ...
a. Juirgen zweileckere Brotchen mit extra Salami hat.

b. Max kein Pausenbrot hat.
c. Max zwei leckere Brotchen mit extra Salami hat .

3. WashatMaxam Morgen eingepackt?
a. Seine Klamotten.
b. Seine Schulsachen.

¢. Sein Pausenbrot.

4. Wegen des Diebstahls...
a.verliert Max die Pause hungrig.
b. verliert Jiirgen die Pause hungrig.

c. verliert der Lehrer die Pause hungrig.



5. AlsMaxendlichzuHausean kam,...

a. hater wieder Brotchen mit extra Salami gemacht.

b. hat Max sich bei Jirgen entschuldigt.
c. lag das Pausenbrot auf dem Tisch.

TEXT C

Hundeund Katzensalon Berger

Wir lieben Tiere!

Wenneuer LieblingeinenneuenSchnittodereinBad braucht,dannseidihrbeiunsgenaurichtig!
Wir kiimmern uns um eure lieben Vierbeiner - ob Hunde oder Katzen - wir pflegen alle
Kleintiere. Aufierdem kann euch unser Team zu Hause besuchen oder das Tier von dort
abholen.

Und fiir alle neuen Kunden: Fiir den ersten Besuch zahlt ihr bei uns nichts!

Ruft einfach malan!

Kontakt: Hunde und Katzensalon Berger

Wedellstr.19,20038 Hamburg, Tel.:040/23194047

Unser Salon ist mittwochs und an den Wochenenden immer zu.

1.DieAnzeigeist....
a. fir Kleintiere-Besitzer.
b. fiir Sportsfreunde.

c. fiir Zoobesucher.

2.  ImSalonkannman...
a. die Tierebesuchen.
b. die Tierebaden.
c. die Tierekaufen.

3. Dererste Besuchkostetnichts...
a. fir alle altenKunden.
b. fiir alle alten und neuen Kunden.
c. fiir alle neuenKunden.

4.  EsgibtaucheineMoglichkeit ...
a. Tierfutter zukaufen.

b. Tiere von zu Hause abzuholen.



ESN

c. aufTiere den ganzen Tagaufzupassen.

Am...istderSalonoffen.

a. Montag
b. Samstag
c. Mittwoch

SECTION - B: WORTSCHATZ

Aufgabe A
SannagibteineParty.SieschreibteineSMS. Ergdnze die SMS.Markiere dierichtige
Antwort.

Hi Mama,
ichbinmitPapaimSupermarkt. Wir (1) ftir meine Party, denn ich kann die
schwerenSachenja (2).Jemand muss den Nachbarnnoch 3),
dassesetwaslauterwird. Kannstdudasbitte (4)? Und: Konntest du bitte auch
schonmalfiirdieParty 5)?
Dankeund bisspéter!
Sanna

. HiMama, ichbinmitPapaimSupermarkt. Wir fiir meine Party, ...

a. Tragen Getranke und Wiirstchen
b. trinken Getranke und essen Wiirstchen

. besorgen Getranke und Wiirstchen

Wir...fiirmeineParty,dennichkanndieschwerenSachenja
a. nicht alleintragen

b. mnicht trinken

c. ohne Geldbesorgen

Jemand mussdenNachbarnnoch , dass es etwas lauter wird.
a. Larm machen

b. Bescheid sagen

¢. Einladung schicken

Kannstdudasbitte ?



a. tragen
b. iibernehmen

c. aufrdumen

6. Und:KonntestdubitteauchschonmalftirdieParty ?
a. die Kartenbesorgen
b. das Wohnzimmer aufraumen

c. eine Pausenehmen

Aufgabe B
Erginze einen Dialog mit den passenden Antworten!

DiezweiPersonensind auf der Strafse. Eine Person willnach dem Weg fragen. Die andere hilft
ihm und beschreibt den Weg.

PersonA: Entschuldigung, bitte! Ich suche das Kino Palast.

PersonB: Ahja,dasKinoPalast.Sie gehenbis zurndachsten Kreuzung, danntiberdie
Schillerstrafse und dannrechts (1)

PersonA: Ah,Moment, (2) ? Was haben Sie gesagt?Ich gehe bis zur ndchsten
Kreuzung und dann...?

PersonB: Ja, genau! BiszurndchstenKreuzung, danngehenSie (3)
Und dann rechts.

PersonA: Aha, tiber die Strafse und dann links.
PersonB: 4) rechts!
PersonA: Ach ja, rechts.

PersonB: Genau! Da (5)

1. PersonB: Ahja,dasKinoPalast. SiegehenbiszurndchstenKreuzung,danntiberdie

Schillerstrafie unddann rechts

a. um denPlatz
b. um dieEcke

¢c. um dieStrafie



. Person A: Ah,Moment, ? Was haben Sie gesagt? Ich gehe bis zur ndchsten
Kreuzung und dann...?

a. wo bitte

b. wann bitte

c. wie bitte
. PersonB:Ja, genau!BiszurndchstenKreuzung,danngehenSie
Und dann rechts.

a. auf die andere Seite der Schillertrafie

b. die Schillerstrafie entlang
c. in die nichsteSchillerstafde

. Person A: Aha, iiber die Strafde und dann links.

PersonB: rechts!

a. Nein, nein! Sie gehen nach
b. Ja,janach
¢. Nichtnach

. PersonB: Genau! Da
a. findest du dieEcke.
b. findet ihr dasKino.

¢. finden Sie dasKino.

SECTION - C: GRAMMATIK
Il.  Ergédnze die Satze mit dem richtigen Préteritum Form. Wiahle a, b oder c

aus.
1. Mala sehr gut Deutsch.
a. sprachen
b. spracht
c. sprach
2. Gestern wir nicht zu dir kommen.

a. konnten

b. konnte
c. konntet

3. Ich gestern hohes Fieber.
a. habe

b. hatte



c. hatten

4. DieKinder sehr friih aufstehen.
a. mussten
b. miisste
C. musste
5. Wo ihr gestern Abend?
a. war
b. warst
C. wart

Wihle das Adjektiv mit der richtigen Adjektivendung aus und erginze die Sétze

1.

Ichessegern Salat.
a. griinen
b. griine

C. griines

Mein Freund hat micheingeladen.
a. nette
b. netter
C. netten

Gesternhabeichein Kleid gekauft.
a. schones
b. schonen

c. schoner

Ihr miisstdie Hande waschen.
a. schmutzige

b. schmutziger

c. schmutzigen

Der Hut istelegant.
a. teuren
b. teure

Cc. teurer



IV. Ergédnze die Sdtze mit der richtigen Préposition. Wéhle a, b oder caus.

. Ichversuche,nichtmitdem Auto Stadtzentrum zufahren.
a. im
b. am

c. ins

DasKonzertfindetmitten dem Platz statt.
a. auf

b. aus

c. neben

. IchhabedenNachbarngetroffen,alser der Wohnungkam.
a. in
b. aus

C. um

. Sonntagskaufeich die Zeitung immer Bahnhof.
a. tber

b. vor

C. am

. IchgehejedenTag den Strand.

a. an
b. zu
¢. durch

V. Bildelndirekte-Fragen.Wéhlea, b oder c aus.

. Entschuldigung, kénnenSiemirsagen, ?

a. Ob heute noch ein Zug nach Berlin fahrt?
b. wieheute noch ein Zug nach Berlin
c. wann fahrt heute noch ein Zug nach Berlin?

. WissenSie, ?

. Keinerweifs,

a. Woher der Laden geschlossenist?
b. Warum der Laden geschlossen ist?

c. obder Ladenist geschlossen?




a. ob du hastangerufen
b. hast duangerufen.

c. Wen du angerufenhast.

4. Wer weifs,

a. ob Martin kommt?
b. ob Martin kommt.
¢c. wie viel Uhr Martin kommt?

5. Sagmir, !

a. obwoich das Badezimmer finde!
b. woich das Badezimmer finde!
c. ob das Badezimmerfinde!

SECTION - D: KURSBUCH

VI.  Ergdnze den Text mit den passenden Wortern.

Handy gestohlen:

Letzten Freitag war Simon M mitein paar Freundenim Westbad in MiinchenPasing.
Eigentlich sollte immer einer von ihnen auf Geld und Handys (1) . Aber dann
gingensieallezusammenschwimmen. Einehalbe StundespéterkamensiezuihrenSachen
zurtick und Simons Handy fehlte. ,Gelegenheit macht Diebe”, wie man sagt. , Ich habe
mein
Handygleich(2)
ausgeschaltet. Alsogingendie Jugendlichenzur Polizeiund machteneine Anzeige. Dann

aber nichts gehort”, erzdhlte Simon. Das Handy war

fuhrensienach Hause. Doch Simonist einrichtiger (3) . Er hat auf seinem

Smartphone eine Appinstalliert, die ein Signal sendet, auch wennjemand eine andere SIM-
Karteeinlegt. Er setzte sich zu Hause an seinen Computer und (4) . Und
wirklich schaltetederDie biirgend wanndasHandyein. DaswaramSamstagabend. Er
legteseine (5) SIM-Karte einund ging mit Simons SmartphoneinsNetz.So
konnteSimonsich vonseinem Computerauf das gestohlene Handy einloggen. Die
Handykameramachteein Foto und Simon sah, dass der Dieb Bayern- Miinchen-
Bettwésche hat.



1. Eigentlich sollte immer einer von ihnen auf Geld und Handys
a. aufpassen
b. anrufen

¢. ausschalten

2. ,Gelegenheit macht Diebe”, wie mansagt. , Ich habe mein Handy gleich gehort”, erzéhlte
Simon.
a. installiert
b. angerufen
c. ausgeschaltet

3. DochSimonisteinrichtiger
a. Polizei
b. Dieb
c. Computer-Fan

4. ErsetztesichzuHauseanseinen Computerund

a. eigene
b. wartete
C. installiert, aber nichts
5. Erlegteseine SIM-Karte ein und ging mit Simons Smartphone ins Netz.
a. eigene
b. wartete
c. Hause

VIII. Liesden Textund wéhle dierichtigen Antworten.

Naturfreundeaufgepasst:Ichbin Melly, und auf dem Foto sehtihr, wasichamliebsten mache:
paddeln! Ich komme ndamlich aus Waren an der Miiritz in Mecklenburg-Vorpommern. Der Miiritz-
Nationalpark hat verschiedene Seen, die miteinander verbunden sind: ein Paradies fiir Paddler!

Hier gibtes vieleseltene Vogel und Pflanzen zu sehen.

Bist duromantisch? Dann musst du unbedingt mal eine Schifffahrt hier machen! Eine Gegend wie
imMairchen:romantische Burgenund spannende Geschichten. Dieser Flussfasziniertdie
Menschensseit Jahrhunderten. Erist sehrlang und verbindet den Norden mit dem Stiden. Ach ja,
ich heifse tibrigens Felix und komme aus Bingen, bekannt durch die , Loreley”. Im Sommer mache

ich hier gerne Mountainbike-Touren mit meinen Freunden.

1. Die Lieblingsfreizeitbeschiftigung von Melly ist ...
a. Wandern
b. Paddeln
c. Fahrrad fahren

2. Das Lieblingshobby von Felix st ...
a. Rad fahren
b. Schifffahrt machen



¢. Paddeln

3. Der Miritz-Nationalpark liegt...
a. in derSchweiz.
b. in Osterreich.
c. in Deutschland.

4. Touristen konnen in Bingen ...
a. seltene Vogel und Pflanzen sehen.
b. eine Schifffahrt machen.
c. Skifahren.

5. Besondersim Sommer kann manin Bingen, ...
a. Radtouren machen.
b. romantische Burgensehen.
c. die ,Loreley” bewundern.

INFORMATION TECHNOLOGY (SUBJECT CODE 402)
SAMPLE QUESTION-I FOR TERM-1

Time: 60 Min (1 Hrs.) Max. Marks: 25

General Instructions:

e Please read the instructions carefully

e This Question Paper is divided into 03 sections, viz., Section A, Section B and Section C.
e Section A is of 05 marks and has 06 questions on Employability Skills.

e Section B is of 15 marks and has 20 questions on Subject Specific Skills.

e Section C is of 05 marks and has 07 competency-based questions.

e Do as per the instructions given in the respective sections.

e Marks allotted are mentioned against each section/question.

e All questions must be attempted in the correct order

SECTION A
Answer any 5 questions out of the given 6 questions on Employability Skills (1 x 5 =5 marks)
1. feedback is specific information, in the form of written comments or 1

verbal conversations that help the learner understand what she or he needs to do
in order to improve.

a. Descriptive b. Specific
c. General d. Sign
2. communication is the use of body language, gestures and facial 1
expressions to convey information to others.
a. Verbal b. Written
c. Non-Verbal d. Visual

3. Sonika gets up at 6 am and goes for her hobby classes. Then she comes back home 1
and finishes her homework before going to school. She does all work by herself. No
one tells her to do so. This is called .
a. Self-Awareness b. Self-Motivation



c. Self-Regulation d. Discipline

High expectations from self can leave one with chronic anxiety and stress, thus 1
leading to stress.
a. Physical b. Emotional
c. Mental d. Financial
A operating system is a computing environment that reacts to input 1
within a specific period of time.
a. Single User b. Multi-User
c. Real Time d. Distribute
Identify the measure to protect computer from threats and viruses: 1
a. Sharing password with friends b. Allow anyone to use your device
c. Use Antivirus d. Leave computer without logging out
SECTION B
Answer any 15 questions out of the given 20 questions (1 x 15 =15 marks)

7. When you apply a , You apply a group of formatting effects together 1
in one single step.
a. Effect b. Style
c. Template d. Format

8. Which function cannot be performed through Subtotal in a Spreadsheet? 1
a. Sum b. Product
c. Average d. Percentage

9. In a document, refers to the vertical or horizontal placement of a 1
graphic in relation to the chosen anchor point.
a. Arrangement b. Anchoring
c. Alignment d. Text Wrapping

10. A is a model that you use to create other documents. 1
a. Template b. Document
c. Design d. Copy Paste

11. styles in a text document affect selected text within a 1
paragraph, such as the font and size of text, or bold and italic formats.
a. Cell b. Paragraph
b. Formatting d. Character

12. To repeat the graphic across the entire background area, we need to select option 1
in word processor.
a. Tile b. Position
c. Stretch d. Area

13. Scenarios are a tool to test questions. 1
a. Auto b. Goal Seek
c. What-if d. Drop Down

14. is particularly useful when creating a watermark or when wrapping 1
the image in the background in a document.
a. Transparency b. Fill
c. Filters d. Crop

15. It refers to a cell or a range of cells on a worksheet and can be used to find the 1
values or data that you want formula to calculate.
a. Row b. Column
c. Autosum d. Cell Referenc

16. , totals/adds data arranged in an array—that is, a group of cells with 1

labels for columns and/or rows Which step one must should follow before using
the Subtotal option?



17.

18.

Answer any 5 questions out of the given 6 questions

27.

28.

29

30.

31

a. Consolidate b. Rename Data

c. Filter Data d. Subtotal

A hyperlink contains the full address of the destination file or web page.
a. Relative b. Absolute

c. Mixed d. Address

Which of the following is more elaborate form of Goal Seek?

a. Subtotal b. Scenario

c. Solver d. Consolidate

SECTION C (COMPETENCY BASED QUESTIONS)

Millennium University is organizing a reunion meet for their alumnae students. For

this purpose, university wants to send the invite to all these students with their

different addresses. Which feature of the Word Processor University should use to

accomplish the task?
a. Mail Merge b. E-Mail
c. Templates d. Data Source

Prisha is a book editor. She wants to change the indentation of all paragraphs, and
change the font of all titles in the book. Which feature she should use to make the

task easy?
a. Styles b. Templates
c. Table of content d. Consolidating

Gaurav has inserted an image in a document. He wants to remove the unwanted

area of the image. Which option of the word processor he will use to complete the

task?
a. Clip art b. Cut
c. Crop d. Contrast

Hema is a chartered accountant. She used to maintain the accounts in a
spreadsheeton everyday basis. There are number of steps which she needs to

follow every time.Can you suggest her a feature of spreadsheet through which she

can perform these tasks quickly without repeating the steps every time?

a. Record Changes b. Track Changes
c. Goal Seek d. Using Macros

Raj has created a worksheet where he has added all the information of his
employees. He wants every employee to go through the worksheet and update
their address and phone number, if required. He also would like to know the

changes done by his employees. Which feature of spreadsheet he should enable to

see the changes made by his employees?

a. Macro b. Link Workbook
c. Change Worksheet d. Track Changes

Akshat wants to store a huge amount information about his firm in a database.

(1 x 5 =5 marks)

1

1

1

1



33

32

Which type of table organization would be most suitable for this purpose?

a. Relational b. Flat File
c. Either Relational or Flat file d. Hierarchical

Sunita is making a project in spreadsheets. Her friend has told her how to
rename aspreadsheet as it will help her identify the worksheet data easily. She
was very excited and told the same to her brother. Her brother told her that in

spreadsheets(OpenOffice0, a worksheet can be renamed using ways.
a.2 b.3
c.4 d. 1
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